54

O, oo oo Cass: e Date:
q | 8= 2 |45=5x

O
3 +04=1 4 %+—%—m

O
B |20 X 1000 = 6 |9= +8

O
7 | 9173 x7= 8 X 4=3176

U
S| B8-1)XEB+2= i0|6x6=| ~ 6

O
1 —_Z,—+—§—m 12 =0.03 + 10

O
13 | 748 + 38295 — 6410 = 19|25 +1+=

O
15 %of64m 16 -4 =1634 |

] O
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Summer Test 3 (confinued)

1 3
17 5 X 5 = 48 | 2483 — 9.778 =
19 |1+ +4+ = 20 20-3X4+2)=
29 = 15% of 280 22(8[865
23| 5+ = 24| 9000 ~ = 3581
1 1 i 3 —
25 =4t 26| 4+ +2% =
27 41 l 6765 (2 marks) 28 « 84 ; ; {2 marks)
~
Total marks /30
S
How well did you do? +with correct place value 13|18
Colour the numbers of the — with zeros 24
questions you got correct, + or x by 10, 100 or 1000 5 112
Lohg x and long + 27128
+ with decimal remainders | 22
Fractions 414115117 [19]23]25](26
Parcentages of amounts 21
Missing numbers 213681016 ]24
Brackets and BIDMAS 9 [131]20
419310 N{1B|14]19]20]25
- 319113 118|20]23324126
X 11567901516 ]17]20]21}28
+ 218 |1215 21722127
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